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The length and breadth of a rectangular field are in the ratio of 3 : 2. If the

perimeter of the field is 80m, its breadth (in meters) is :
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The length and breadth of a rectangular field are in the ratio of 3 : 2. If the

perimeter of the field is 80m, its area (in square meters) is :
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Find the value of (5)°+(9)° +(4)*.
(5)3+(9)* +(4)* T HTF FTd hITSAT|

| S+V/°T+/l/é
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A)860

B)870

C)800
D)900
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Find the value of \/2500 — =\ ¢
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The area of a trapezium is 80 cm?. The lengths of its parallel sides are 4 cm and 16

cm respectively. Find the perpendicular distance between the two parallel sides.
Teh GUCTr SITHS <Rl &ETheT 80 HHY? ) $EehT TG HSATSAT shl TiaT SHAIT: 4
AT 37T 16 AT T I AU Wﬁ%%ﬁm@m%l

A= L @DxR . B
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- L@HQ)XQ : A)3 cm
o — | o Xﬁ [ ‘ B)6 cm
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D)10 cm
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The perimeter of a trapezium is 52 cm and its each non-parallel side is equal to 10 cm

with its height 8 cm. Its area is-
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— A)148 cm’

Ath = >2-2¢ @ B) 124 cm?
\_@ A" z (240 xQ\ 9128 cm?

-2 32}«9 D)132 cm’
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If 10 males and 12 boys can finish a work in 24 days In how many days 20 males and

24 boys can finish the same work?

afe 10 T69 3R 12 Tk Toret whrdl ot 24 TT § TATH oY Wehd & A 3HT srd et 20 T69
3R 24 TSk Toha fot & o1 ot Tk 32

2, fet N'(%:-
X X 3
S [+ | 2 NB 1@ A)48 days

B) 24 days
C)36 days
D)12 days
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A boy can finish a work in 20 days and a girl finish the same work in 30 days .In how

many days can a boy and a girl finish the same work together. %;iii _,?wg
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Ritu bought a toy for Rs 600 and she spend Rs. 50 on its packing .If she wants to earn

20% gain so at what price should she sell it ?

g 600 T 7 Teh Rereitr TiaT o o 5okt §fT X 50 5. 503 e adt 31 9t e
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Sp= 7 — A)Rs. 720
lp“- G-SoX B)Rs. 700
|30 “—©)Rs. 780
@ D)Rs. 800
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A shopkeeper offers two successive discount of 15%+ 15% on an article . Find the

overall discount % offered by him.
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Find the value of 150- [10 +{ 3- ( 20- 5)}]
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The total surface area of a cube is 13.5 m? What is the length (

in m) of its diagonal?
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A number is first increased by 20% and then reduced by 20%. What would be

the percentage change in the number?

Teh AT H UTA 20% hl Fieg shl AT & AR TH 20% Y HHT 6T AT 21 G H
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W
C) 0%

D)40 %
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If 15 percent of 40 percent of a number is 30, then what is the number?

I ToreT TET oh 40 TTA9T RT 15 TTd9Td 30 8, T TEIT FT 22
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In a school, 20% of the boys is the same in number as 2/3 of the girls. What is the

ratio of boys to girls in that school?
Uk Fhed H Tgehl shl 20% , TSRl <hi HIEAT 2/3 o STeR BIdT 21 39 Thet H
C’ISOhI Ohl TET Rl C'ISIOhtll Ohl TET @'W (eha Al _'&")

E))(% C\)&'— A) 4:5

B) 5:7
[B -Gz (0372 \—€)10:3

D) 3:10
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John’s and Tanvi’s ages are in the ratio 8:15. After 9 years, the ratio of their ages

will be 11:18.What is the difference (in years) between their ages?
S SR a1 hT AT T FTUTA 8:15 7 9at?a1'q'3-—|7=ﬁan'€ramaq=|trm11 18 EIT.

ITRY g H @rﬁﬁ)ﬁlﬁmaﬁ'{%"

_\J\ A) 25 year
19 )-I— 3 B) 27 year

J \—€) 21 year

i 9( D) 23 year
0 :3/‘7@




Incomes of Teena and Sheena are in the ratio of 2 : 3 and their expenditures are in

ratio of 3 : S. If each saves Rs 1,000, then Teena’s income is:

AT 3T ST <R 31T 2:3 o TUTA H g AT 3R o9 3:5 o FAJUTd H g A3

Tedeh 1,000 TUF F=ATdl 2, 91 ST e

C \ﬁ. 4,000

@) - = o)
- - IS
@ T 1) =)  B)Rs.5,000
o SE = - 3. C) Rs. 6,000
- D) Rs. 8,000
IM <
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If the radius of a sphere is increased by 5%, what percentage increase takes place in the

surface area of the sphere?
T3 Uk Tt hil ST H 5% <Rl Aleg sl AT &, AT T ok TEA &A%eT H fohd- ITA9Td ki

e ©
7

A)10%
B)10.25%
C)8%

D) 12%
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If in a triangle ABC, AB = AC and £ZACD = 95°, where D is an

outside point on extension to line BC, then £ BAC is equal to:

qfg ST ABC #, AB = AC 3R LACD = 95°, 1&gt D W&t BC &l

TG U Tk dTed feig 7, 9 £ BAC SRIeR

A) 10°
B) 65°
O) 15"
D) 30°



Select the number that can replace the question mark in following number series .
I HEIT T T hY AT AT Rad S&ar sieern § a4 forg st afaeenfua ot et
2-

7 8 | 39 55 180 216 ?

A) 559
B) 658
C) 554
D) 549






